DOCUMENT 01 26 63

CHANGE ORDER

NUMBER: 2								
PROJECT: Paving and Water Main Improvements CCMG 23-1 – Azalea, Thicket, Pasturegate, Tamarack, Treadway, Tudor & Fran Lin Crossing								
DATE OF ISSUANCE:	3/20/2024	EFFECTIVE DATE:	3/20/2024					
OWNER: Town of Munster								
OWNER'S Contract No. MUNST 171938								
CONTRACTOR: Milestone		ENGINEER: SEH of Indian	a					

You are directed to make the following changes in the Contract Documents.

Description: Treadway Bike Path Extension and Traffic Calming Changes See attached PDF for quantity changes.

Reason for Change Order:

Bike Path on the north side of Treadway was extended to Calumet Avenue.

Traffic calming on Treadway was modified. The curb bump outs near the intersections of Treadway and Sutton, Windsor, and Oxford will not be installed, instead raised crosswalks will be installed at these intersections. Additionally, the raised crosswalk at the intersection of Treadway and Tudor will not be installed and instead a speed hump at the west limit of the park will be installed.

Attachments: (List documents supporting change)

- PDF breakdown of quantity changes and additional line items with unit prices.
- Updated Treadway plan sheets.

CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:
Original Contract Price	Original Contract Times
\$	Substantial Completion: Ready for final payment: days or dates
Net changes from previous Change Orders No1_ to No1_	Net changes from previous Change Orders No to No
\$	(days)
Contract Price prior to this Change Order	Contract Times prior to this Change Order
\$	Substantial Completion: Ready for final payment: days or dates
Net Increase (Decrease) of this Change Order	Net Increase (Decrease) of this Change Order
\$59,169.50	

	(days)
Contract Price with all approved Change Orders	Contract Times with all approved Change Orders
\$3,039,232,00	Substantial Completion: Ready for final payment: days or dates

RECOMMENDED:	APPROVED: Town of Munster	ACCEPTED:			
By:	By: Town Manager	By: Contractor (Authorized Signature) PROTECT MAPAGER			
Date: 3/20/2024	Date:	Date: 3-21-2024			

END OF SECTION

						Bike Path Extension	Raised Crosswalk Install (Sutton, Windsor, Oxford)	Speed Hump Install (Tudor)		
	ITEM	UNIT	UI	NIT COST	TOTAL QTY				TC	TAL COST
45	TREE, 6IN., REMOVE	EACH	\$	105.00	4.00	4.00			\$	420.00
46	TREE, 10IN., REMOVE	EACH	\$	110.00	5.00	5.00			\$	550.00
47	PLANT, TREE, DECIDUOUS (LIRIODENDRON TULIPIFERA)	EACH	\$	1,094.50	6.00	6.00			\$	6,567.00
48	EXCAVATION, COMMON	CYS	\$	48.00	30.00	30.00			\$	1,440.00
49	SUBGRADE TREATEMENT, TY III	SYS	\$	1.50	80.00	80.00			\$	120.00
50	COMPACTED AGGREGATE BASE, NO. 53	TON	\$	50.00	30.00	30.00			\$	1,500.00
51	HMA SURFACE TYPE B, 9.5 mm	TON	\$	115.00	10.00	10.00			\$	1,150.00
52	HMA INTERMEDIATE, TYPE B, 19.0 mm	TON	\$	105.00	20.00	20.00			\$	2,100.00
53	CURB RAMPS, CONCRETE, CONSTRUCT	SYS	\$	180.00	30.00	30.00			\$	5,400.00
54	TRANSVERSE MARKING, THERMOPLASTIC, ARROW, WHITE, 12 IN. (SPEED HUMP)	EACH	\$	440.00	4.00			4.00	\$	1,760.00
55	SPEED HUMP	EACH	\$	2,600.00	1.00			1.00	\$	2,600.00
3	PAVEMENT REMOVAL	SYS	\$	18.00	-120.00		-120.00		\$	(2,160.00)
5	SIDEWALK CONCRETE, REMOVE ONLY	SYS	\$	20.00	6.00			6.00	\$	120.00
18	CURB RAMPS, CONCRETE, REMOVE & REPLACE	SYS	\$	225.00	-6.00			-6.00	\$	(1,350.00)
19	CURB RAMPS, CONCRETE, CONSTRUCT	SYS	\$	180.00	-6.00			-6.00	\$	(1,080.00)
22	CURB & GUTTER, CONCRETE, CONSTRUCT	LFT	\$	40.00	-300.00		-300.00		\$	(12,000.00)
23	CURB & GUTTER, CONCRETE, REMOVE & REPLACE	LFT	\$	68.00	60.00		60.00		\$	4,080.00
26	SEED MIXTURE P	LBS	\$	338.00	-4.00		-4.00		\$	(1,352.00)
27	TOPSOIL	CYS	\$	120.00	-14.00		-14.00		\$	(1,680.00)
29	TRENCH DRAIN	LFT	\$	315.00	48.00		48.00		\$	15,120.00
32	SIGN POST, SQUARE, TYPE 1. REINFORCED ANCHOR BASE	LFT	\$	32.00	84.00		108.00	-24.00	\$	2,688.00
33	SIGN, SHEET, WITH LEGEND, 0.08 IN	SFT	\$	29.00	58.50		75.00	-16.50	\$	1,696.50
35	TRANSVERSE MARKING, THERMOPLASTIC, CROSSWALK LINE, WHITE, 24 IN.	LFT	\$	15.00	-36.00	54.00	-90.00		\$	(540.00)
37	TRANSVERSE MARKING, PAINT, RAISED CROSSWALK ARROW, WHITE, 12 IN.	EACH	\$	200.00	8.00	_	12.00	-4.00	\$	1,600.00
43	RAISED CROSSWALK	EACH	\$	15,000.00	2.00		3.00	-1.00	\$	30,000.00
44	TRANSVERSE MARKING, PAINT, CROSSWALK LINE, WHITE, 24 IN.	LFT	\$	5.00	84.00		126.00	-42.00	\$	420.00

Milestone Contractors North, Inc.



GRIFFITH 1700 E. Main St. Griffith, IN 46319 Phone: (219) 924-5900 Fax (219) 924-8768 SOUTH BEND 24358 SR 23 South Bend, IN 46614 Phone: (574) 288-4811 Fax (574) 289-7174

Ms Kim Wenzel, PE (IL, IN)

Civil Engineer

Short Elliott Hendrickson, Inc.

March 19, 2024

Dear Kim,

We are please to provide extra work prices for a Change Order to complete additional work on Munster CCMG 23-1 contract. Prices are provided at follows:

Item	Unit	Unit cost	Qty	Total Cost
Tree, 6 IN., Remove	Each	\$ 105.00	4.0	\$ 420.00
Tree, 10 IN., Remove	Each	\$ 110.00	5.0	\$ 550.00
Plant, Tree Deciduous				
(Liriodendron tulipifera)	Each	\$ 1094.50	6.0	\$ 6,567.00
Excavation, Common	CYS	\$ 48.00	30.0	\$ 1440.00
Subgrade Treatment, Type III	SYS	\$ 1.50	80.00	\$ 120.00
Compacted Aggregate Base, NO 53	TON	\$ 50.00	30.00	\$ 1,500.00
HMA surface Type B, 9.5mm	TON	\$ 115.00	10.00	\$ 1150.00
HMA Intermediate, Type B, 19.0mm	TON	\$ 105.00	20.00	\$ 2,100.00
Curb Ramps, Concrete, Construct	SYS	\$ 180.00	30.00	\$ 5,400.00
Speed Hump	Each	\$ 2600.00	1.00	\$ 2,600.00
Grand Total				\$ 21,847.00

Feel Free to contact me with any questions.

Charles Johns III

Project Manager

Milestone Contractors North, Inc.



